NAIR Assistant Electrical Engineer AEE

Topic:- AEE_PA_NAIROCT4

) Whichisthe apex body to ensure integrated aperation of the national power system?
TTETT Ta=d AT & TR AATAA T AT FoA F AT A91g 9T HIF A7 2 7

[Question ID = 1]
1. CERC/w m.fF=am

[Option ID = 1]
2. SERCHT.fA.fam

[Option ID = 2]

3. RLDC/AsmaF.
[Option ID = 3]

4. NLDCHTsT.T..

[Option ID = 4]

Correct Answer :-
* NLDChHT=TH.F

[Option ID = 4]

2) As per CEA (Measures relating io Safety and Electricity Supply) Regulation-
2023, which type of transformer can be used if substation is located in the
basement of the residential and commercial building?

SHTEST (FaT T T g 2w ) ERaa-2023 F wa aiE a9 = A E wie
T4 5159 & 99AZ 7 (237 Z A7 [0 T & 295« F7 27907 307 ST 9F97 2 7

[Question ID = 2]
1. Only oil filled transformer == 37 T= z@FHH

[Option ID = 5]
2. Only dry type transformer/ Fa= =72 =127 @<

[Option ID = 6]
3. Any type of transformer/ &=T =T wo= F z/@wm<

[Option ID = 7]
4. None of the given option/ = =91 & 7 5712 787

[Option ID = 8]

Correct Answer :-
o Only dry type transformer! F== =72 =127 =@«

[Option ID = 6]

3) Dunng arefrigeration cycle, heatis rejected by the refngerantina..._._______
AT = F AT, T E TR BT H AT & AT ST
[Question ID = 3]
- Compressor/ ##sr=
[Option ID = 9]
2. Condenser/#z=+7

[Option ID = 10]
3. Evaporator/ mamTET



[Option ID = 11]
4. Expansion valve/ mriaaT

[Option ID = 12]
Correct Answer :-
e Condenser/#=a+

[Option ID = 10]

4) Reading orwriting requires an illumination ofmorethan.. . . ...
R o N = T SO B 11 - i - L P B = - o e = e

[Question ID = 4]
- 700 Lux/700 77

[Option ID = 13]
2. 1000 Lux /1000 ===

[Option ID = 14]
3. 300 Lux/300 ===

[Option ID = 15]
4. None of the given option/ T 7 FEF=9T 5 7 F12 721

[Option ID = 16]

Correct Answer :-

o 300 Lux/300 ===

[Option ID = 15]

5) DGAtestis performedby.......... .

[Question ID = 5]
1. Gas chemical Analysis/ 5= g HaumT

[Option ID = 17]
2. Gas chromatography/ = #=rmdT

[Option ID = 18]
3. (Gas leak checking instruments / 3= e =TT 39877

[Option ID = 19]

4. None of the given option/ fem s frweat & 7712 7gf
[Option ID = 20]

Correct Answer :-

o Gas chromatography/ 5= F=mmhr

[Option ID = 18]

6) RCBO gives protection in case of ..
AT T oA TS

[Question ID = 6]
1. Overload/ sr=a=

[Option ID = 21]
2. Earth fault/earth leakage / s wi==/ 1 #TF=

[Option ID = 22]
3. Short circuit/ o1tz /4=

[Option ID = 23]



4. All of the given option /=1 Fm Fws
[Option ID = 24]

Correct Answer :-

® All ofthe given option /= For fage7

[Option ID = 24]

7) How soft start controller controls the speed

[Question ID = 7]
1. Control power and frequency! st mia= s g/ Trgr &1 FatEa w7

[Option ID = 25]

2. Control current and frequency/ a1 st @r3fa #1 7t 77
[Option ID = 26]

3. Controi voltage and frequency/ F=== = wig(7 F1 =9a=7 7+
[Option ID = 27]

4. Control resistance and frequency/ simere i agia 7 =a=T 57

[Option ID = 28]

Correct Answer :-

* Control voltage and frequency/ #=== = g #1 a7 F+

[Option ID = 27]

8) Which safety device to stop descending carand counterweight beyond normal
limitin a lift?
TS IO 0 F0 T S ATATT ST o SAE T H AT FA o A AT

[Question ID = 8]
- Over speed govemonsEa =iz T@aq7

[Option ID = 29]
2. Car door/®1= F1 =74a1eT

[Option ID = 30]
3. COP/Hrsmsr

[Option ID = 31]
4. Limit switch in pit/ =& Tra= 5=

[Option ID = 32]

Correct Answer :-

®  Limitswitch in pit/ To= & foife= 5=

[Option ID = 32]

9) Which component of an escalator system carnies the handrail?
TERZE UL 7 07 AT T8 * (AT 1 357 Fa] 7

[Question ID = 9]
1. Balustradef@a===

[Option ID = 33]
2. Step Chain /=737

[Option ID = 34]
3. Lower comb plate /#7157 F177 ==



[Option ID = 35]
4. Upper comb plate | 797 F799 =iz

[Option ID = 36]

Correct Answer :-

e Balustrade/a===

[Option ID = 33]

10) Which component in elevatoris load camying element and provide:support to
the elevator car?

oI F 17 AT T2 977 G5 &0 ATAT AT £ A7 (A FT7 F I T277 F9AT 82
[Question ID = 10]
1. Buffersm+
[Option ID = 37]
2. Counter weightmrs==3=

[Option ID = 38]

3. Controllera=Z=
[Option ID = 39]

4. Carslingfme= &
[Option ID = 40]

Correct Answer :-

® Carslinge &
[Option ID = 40]

11) Which ISOstandard is for energy management system?
Tl AATET TUTAT & AT FIeT AT AT A 27

[Question ID = 11]
1. 150 8001/ sreme=m 9001

[Option ID = 41]
2. |50 50001/ /smEm==r 50001

[Option ID = 42]
3. 180 14001 famsma=m 14001

[Option ID = 43]
4. None of the given option/ T i EseaT & 7 %12 721

[Option ID = 44]
Correct Answer :-

® IS0 50001 /mmEm==r 50001

[Option ID = 42]

12) Ina circuitbreaker the arc extinction can beachievedby ...
T Wi AH A AT (AT T ... G AT AT 5 AT 2

[Question ID = 12]
1. De-ionization of the arc/ s FEsmameas= o

[Option ID = 45]
Replacement of the ionized gas by cool fresh gas/ s/ @mEss ™= 3T T 99 5107

TR
[Option ID = 46]

2



Both De-ionization of the arc and Replacement of the ionized gas by cool fresh gas / 2AT @5 & Eammeas= F

3. = = »

[Option ID = 47]
4. None of the given option/ = fEFeaT 5 7 %712 787

[Option ID = 48]

Correct Answer :-

Both De-ionization of the arc and Replacement of the ionized gas by cool fresh gas / =1AT =15 & Bammeaem F

[ ) = = "

[Option ID = 47]
13) Whatis the indication of the Second digit in IP-XX code (Ingress protection
code)?
IP-XX =7 (57 T7=7 F73) 7 5977 55 47 S90AT 27

[Question ID = 13]
Degree of protection against ingress of solid foreign object/ 3= argfTa=g F 9391

1.
AT & A
[Option ID = 49]
,Degree of protection against ingress of water with harmful effect/s T F ==
TR AT g WA o AT T =T
[Option ID = 50] ]
;. Deagree of protection against temperature variation / ST W= % == g747

ARl
[Option ID = 51]
4. Degree of protection against harmful gases/ grie=r= a1 # T &7 =47

[Option ID = 52]

Correct Answer :-
Degree of protection against ingress of water with harmful effect/= T = =sra

ZTF AT ETEHoF T o Tl &1 =407

[Option ID = 50]

14) Forwhich of the following parametervariation, the capacitance of the capacitor

remains unaffected?
fFerfatas 5 & T Terses (59 & 0, FAEEs 50 91T Sa=1=m gl & 7

[Question ID = 14]
1. Nature of dielectric /=Tsz=F=zF #1757

[Option ID = 53]
2. Thickness of fhe plates /== FraEE

[Option ID = 54]
3. Distance between the plates | ==T 3= 777

[Option ID = 55]
4. Area ofthe plates I ==1 77 59F=

[Option ID = 56]

Correct Answer :-
® Thickness of the plates / ==TFfra=Ts

[Option ID = 54]



15) If 2V is suppliedto a 3F capacitor, calculate the charge stored in the capacitor.
g% 3 %= & T SR 2 AT KT AL o7 FHT 8, 77 FA (927 # Sa207 A1 5 007

[Question ID = 15]

1. 15C

[Option ID = 57]
2. BC

[Option ID = 58]
3. 2C

[Option ID = 59]
4. 3C

[Option ID = 60]
Correct Answer :-
* BC

[Option ID = 58]

16) The full-load copper loss of a transformer is 1800 W. At half-load, the copper
losswill be
T ZERTR T $ 90 -ATs 9 w1 At 1600 W g, s s we, #iae At B

[Question ID = 16]
1. 6400 W/ 6400 =7=

[Option ID = 61]
2. 1600 W/M1B00 =12

[Option ID = 62]
3. 800 W/800 ==

[Option ID = 63]
4. 400 W/ 400 =1=

[Option ID = 64]
Correct Answer :-
® 400 W/ 400 ar=

[Option ID = 64]
17) Which of the following diode is used as voltage regulators?
o a5 F &9 =g T STAT ared (G E F =T H T (FAT AT E 7

[Question ID = 17]

1. PN junction diode /i s =rars
[Option ID = 65]

2. Zener diode / 37 =T

[Option ID = 66]
3. Schotiky diode / =T =T

[Option ID = 67]
4. Tunnel dicde | zr=r =maT=

[Option ID = 68]

Correct Answer :-

® Zenerdiode / 597 ==
[Option ID = 66]



18) What is the full form of SMES In Electronic head code?
TAFEE o= s A SMPS Fr i am =T E 7

[Question ID = 18]
1. Switched mode power supply | == Fr= e a=1z

[Option ID = 69]
2. Switch mode panel supply /= #1= fae 5=

[Option ID = 70]
3. Stand mode power supply | == A= TET T

[Option ID = 71]
4. None of the given option/ = 7 =91 5 7 12 727

[Option ID = 72]

Correct Answer :-
* Switched mode power supply / 7= A= Trava=1Te

[Option ID = 69]

19) Choose the incomect statement / T #9797 |

[Question ID = 19]
1. SCR Is a bidirectional device | To==17 7F FE=EFTTA TTFT &

[Option ID = 73]
2. SCRis a controlled device/ ma=T= TF FeaEa 35T 2

[Option ID = 74]
3. In SCR the gate is the controlling terminal / m=fen 5 = Faaw zHaa 2

[Option ID = 75]
SCR are used for high-power applications / ma=fT== #7299 S5-91F 9407 &

[Option ID = 76]

Correct Answer :-
® SCR is a bidirectional device / To==17 TF FESEFEAA TTFET £

[Option ID = 73]

20)  |f the speed ofa DC shunt motor is increased, the back EMF of the motor
will
= =TT S5 AT F0 I =57 5 WA, 77 ATEE A% 2O

[Question ID = 20]
1. Decrease! ##7 g T

[Option ID = 77]
2. Increase/= = TAMT

[Option ID = 78]
3. Remain same/=zr 721

[Option ID = 79]
4. Increase then decrease/==m1 = 7 grm

[Option ID = 80]
Correct Answer :-
® |Increase/ == AT

[Option ID = 78]



21) Intwo packet tender system
ERE TR T ER I R TR
[Question ID = 21]
1. Technical bid is opened first/ 91 THTHT THe AT 2

[Option ID = 81]
2. Finandal bid is opened first / 972 TATET ke T AT 2

[Option ID = 82] . L
3. Both are opened at same time / ZT91 Tz TF AT T A0 ¢

[Option ID = 83]
4. None of the given option/ = FEF=9T & T 512 721

[Option ID = 84]

Correct Answer :-

* Technical bid is opened first/ 97277 THiwhT Toz G777 2

[Option ID = 81]
22) Whatis the financial limit of SA grade officer in case of works matter under quotation as per model SOP 20187
HI=e] T AT 4T~ 2018 % ATAIT K207 & AT A F14 & A9 A TAT T2 AR *l G509 #H7 22

[Question ID = 22]

1. Rs_5 lakh per case/ 5 778 #93 97 %9
[Option ID = 85]

2. Rs. 10 lakh per case/10 @I =94 97 %4

[Option ID = 86] ]
3. |Rs 2 lakh percase /2 713 =94 97 §id

[Option ID = 87]
4. Full power / T9 9197
[Option ID = 88]
Correct Answer :-
® Rs. 10 lakh per case/10 97 =9 97 &9

[Option ID = 86]
23) Whois enfitled to issue cerfificate regarding complefion of work?
FT G720 o HAH H ORI TATY THA T 7 AT 27

[Question ID = 23]
1. Firm's representative / %+ T TiaTare

[Option ID = 89]
2. Account officerf ST ATEHTIT

[Option ID = 90]

i

3. Nominated supervisor/engineer/ T THa%F / ZA147

[Option ID = 91]
4. Sanctioning authority /=TT 59 23T ATHH]

[Option ID = 92]
Correct Answer :-
® Nominated supewisorfengineerﬁ'ﬂ"ﬁ? Ta5F | FAAET

[Option ID = 91]



24) In the event of Force Majeure can be done.
ATTATIST FenT F1 Zaig 7 ERIEIELIE]|

[Question ID = 24]

1. Extension in time limit/ 793 977 o

[Option ID = 93]
2. Temporary Suspension of work / T FT =T e
[Option ID = 94]

3. Termination of Contract/ @f==T F1 997F

[Option ID = 95]
4. All of the given option /=1 &= fFw=7

[Option ID = 96]

Correct Answer :-

® All ofthe given option /= For fage7

[Option ID = 96]

25) \Which agencyis not a vendor approving agency?

[Question ID = 25]

1. RDSO /s Zma=n
[Option ID = 97]

2. RITES /7=
[Option ID = 98]

3. CLW/ AT =27
[Option ID = 99]

4. BLW/df Ty =51
[Option ID = 100]

Correct Answer :-

* RITES/7Te=n

[Option ID = 98]

26) Vetting of EAC/AAC is required for
T A T T AT HT IEAT 6 ATTFATE

[Question ID = 26]
1. A category ltems / a o7 527 % 0

[Option ID = 101]
2 B category Items / & &t % =1 % off
[Option ID = 102]
3. Both A and B caiegory items / ZTAT A ST B 97 F AT % 717

[Option ID = 103]
4. All items / 7T 71 3 offm

[Option ID = 104]

Correct Answer :-

® A category liems / A 4977 527 &% 17

[Option ID = 101]



27) Whatis the full form of WTA?

[Question ID = 27]

1. Vendor Trade Association /F7=% &= THITH=HAT
[Option ID = 105]

2. \World Trade Association /92 2= THITEEHT

[Option ID = 106]
3. Wheel Tire and Axle / =21 2137 9= TH

[Option ID = 107]
4 Wheel Track Alignment / =577 2% STT2H=.

[Option ID = 108]

Correct Answer :-
* Wheel Tire and Axle / =27 2187 7= THH

[Option ID = 107]

28) If for an item, demand has been generated, and tender has been floated. This will
come under

G Tl 2w % o, 0T 309 25 2, A7 iaar e i w47 2, 91 92 F2Amar &

[Question ID = 28]

1. Covered dues / #a2 =19
[Option ID = 109]

2. Stores in transit/ =7 T G
[Option ID = 110]

3. Un-covered dues / 577 ®a= =99
[Option ID = 111]

4. Buffer Stock / 9%7 w1F
[Option ID = 112]

Correct Answer :-

* Un-covered dues/ 57 %== S5

[Option ID = 111]

29) Whatis the capacity of main power transformer provided in LHB AC Coaches?
TSR T FIS PR A i g f Ay e 22

[Question ID = 29]
1. 100 kVA/100 F =

[Option ID = 113]
2. J5kVA /75 FHT

[Option ID = 114]
3. B0 kVA /80 FATT

[Option ID = 115]
4. 50 kVA /50 F #1T
[Option ID = 116]
Correct Answer :-
* B0KVA 60 FATT

[Option ID = 115]



30) Whatis the full form of WRA in LHB Coaches?
TATEAT FAT A 22 A7 T 6 FT FE HTE?

[Question ID = 30]

1. \Nire relay appliances / 917 71 9%

[Option ID = 117]

2. \Nater raising apparatus/ 99T 3219 ®T 390
[Option ID = 118]

3. Worker relief amrangement/ A% T2 s1354T

[Option ID = 119]
4. None of the given options / T2 7 fase=i § T 12 A21

[Option ID = 120]
Correct Answer :-
* \Nater raising apparatus/ T 5217 FT 5957

[Option ID = 118]

31) Which relay will fip DJ if MVSL-2 bumtwith earth fault?
THA T2 T F7 79 Heg 217 99 F T 47 190 % 377 DJ BT EFm?
[Question ID = 31]
- QLAIFTET
[Option ID = 121]
2. QOPA /#rar T
[Option ID = 122]
3. QOA/FTaTT
[Option ID = 123]
4 QLM /=g TE
[Option ID = 124]

Correct Answer :-
°* QOA/FL AT
[Option ID = 123]
32) Which of the following relay 1s provided on auxiliary control circuif?
T 5 7 AT T T |l 7 o] (9] Fiq AT 27
[Question ID = 32]
1. Q118/=#-118

[Option ID = 125]
2. QOA/=Fg T

[Option ID = 126]
3. Q-100/ #-100

[Option ID = 127]
4. QCVAR/FH 1T a7

[Option ID = 128]

Correct Answer :- Deleted

33) J-1and.J-2 (reverser) are operated by whom?
ST 2 (A o s gT e g e
[Question ID = 33]
- MPS T
[Option ID = 129]



2. MPJ) TR
[Option ID = 130]
3. ZPT /5= &
[Option ID = 131]
4. BL/FTTE
[Option ID = 132]
Correct Answer :-
* MPJ/ TET

[Option ID = 130]

34) Which fuse will melt in WAG-T locao if there is earth fault in coil of C-1077
WAG-7 #T#T 7 C-107 i 7 7% H{wz 2 ®17 A7 [FAH HeZ ZEIT?2

[Question ID = 34]

1. cCcDd/#Tam 3T =

[Option ID = 133]
2. CCA/ETHTT

[Option ID = 134]

3. CCPT/Hr«frfrs
[Option ID = 135]

4. CCLC/ #r ooy ot
[Option ID = 136]

Correct Answer :-

® CCA/=TT™T

[Option ID = 134]

35) Whatis the technical name of RS valve?
RS =fea 7 A0 719 47 272

[Question ID = 35]
1. D1/ D-2 pilot valve / 21-1/ F1-2 Tz 9ied

[Option ID = 137]
2. ABEV /T #T E4T

[Option ID = 138]
3. EBV/EHTAT

[Option ID = 139]
4. MU2B /[ ws e 2 4T
[Option ID = 140]
Correct Answer :-
* EBV/ZATHT

[Option ID = 139]

36) When oneairsprig faited in EMU rake then maximumspeed is..._..__..
A THY T § UG T [EA 21 A1 E AT AR T BT 2 vvveneeen

[Question ID = 36]
1. 15 kmph/ 15 T 9w ==r1

[Option ID = 141]
2. 20 kmph/ 20 T&=T 97 =27

[Option ID = 142]



3. 80 kmph/ 60 =T 9T =7=1
[Option ID = 143]

4. 101 kmph! 1071 Te=T 77T =27
[Option ID = 144]

Correct Answer :-

® B0 kmph/ 60 FE=T T =21

[Option ID = 143]

37) Specificgravity of baftery in fully charged condition is
quier; TS &I AFEAT H HEE e 2T e

[Question ID = 37]
1. 1.00

[Option ID = 145]
2. 1700

[Option ID = 146]
3. 1220

[Option ID = 147]
41180

[Option ID = 148]
Correct Answer :-
* 1220

[Option ID = 147]

38) Difference between two consecutive span length should not be more than
[Question ID = 38]
. 25m/25+.
[Option ID = 149]
2. 20 mJ/ 204
[Option ID = 150]
3. 18mJ/184T,

[Option ID = 151]
4. 16 mA6HT.

[Option ID = 152]
Correct Answer :-
* 18m/18 4T,

[Option ID = 151]

39) In AC traction, normal encumbrance at support is
THIFG A, A e AT AT 2

[Question ID = 39]

1. 19m/1.9 H=

[Option ID = 153]
2. 44 mia der

[Option ID = 154]
30 9m/0.g Hi=w
[Option ID = 155]



4. 20 mi2.0 AT
[Option ID = 156]

Correct Answer :-

® 14 m4 Hizr

[Option ID = 154]

40) At obligatory structure of turnout, it is general practice to give encumbrance of

[Question ID = 40]

1. 14 m tumoutOHE & 0.8 m. main line OHE/

1.4 9T, ZT3E ATT=E U9 0.9 AT T A7ET A
[Option ID = 157] _

09 m tumoutOHE & 1 4 m. main line OHE/

0.9 71, ZHase A= U4 1.4 H, T2 q29 A0

2.

[Option ID = 158]
3. 1.4 m tumout OHE & 1.4 m. main line OHE/
1.4 HT. 2T 3 ATEE A 1.4 °T qe qrEn AreE
[Option ID = 159]
4 09 m tumout OHE & 08 m.main line OHE/
" 0.9 . zETIE A= U4 0.9 H . g qrEa anEg

[Option ID = 160]

Correct Answer :-

o 14 m tumoutOHE & 0.9 m. main line OHE/
1.4 T, =3 AU=E UA 0.9 HY L HE AT AU
[Option ID = 157]

41) The change in the height of the coniact wire fo be achieved very gradually, to
avoid-

A9k AT FATE F GG ggd div - S = Sy e, 9T =9 & [0

[Question ID = 41]
1. Loose contact between contact wire & pantograph
[Option ID = 161] )
, [Exert excessive pressure on the contact wire by pantograph. /
T[T 3177 996 717 97 Sdi9® 3979 =1
[Option ID = 162]
3. Poorcurrent collection. / &97F F9 FoigeTT
[Option ID = 163]
4. All of the given option /=1 o fEwss

[Option ID = 164]

Correct Answer :-

¢ All ofthe given option /=47 = f&aFe7

[Option ID = 164]



42) The maximum wind pressure which is considered to design OHE structures for

Redzoneis
TEAM & 00 ATAL TIFAATAT R FATEA T W OO0 AT 24T B =
HIAT F7AT 8

[Question ID = 42]
1. 110kgiim?®

[Option ID = 165]
2. 180 kgfim?

[Option ID = 166]
3. 150 kgfim?

[Option ID = 167]
4. 180 kgim?

[Option ID = 168]

Correct Answer :- Deleted

43) In OHE which oneis a frue statement?
AT H A AT FAT A ?

[Question ID = 43]
Gj Jumper can be provided any side of obligatory mast in overlap type turm out/

1.
ST ST T AETAT TFNTF 20 ATIE F ATAATH ATEE & (hHT AT T AT 6 ARAT

[Option ID = 169]
Gj jumper should smcily be provided in turm out span/
SfT 5% ol =4 132 T4(F H AT AT AR

2.

[Option ID = 170] )
3. Gjumper should stnictly be provided in overlapping span /
i e 1 [ R ) e s B L ] e R

[Option ID = 171]

 jumper depends on length of G jumper/ =T FF9= FT T, 5T F997 &7 7472 97

4.

[Option ID = 172]

Correct Answer :-
G jumper should stnctly be provided in overlapping span /
i e 1 s e i D e B B R R A N =

[Option ID = 171]

44) In OHE when the Level Crossing Gate is approached, the height of contact wire
is :
ATAS F AT AT WG AEF T TE T 2, A AT q17 ] FATe |
[Question ID = 44]
! Reduced / %+ fFaT 9T 2

[Option ID = 173]
2. Either Reduced or Increased! 3T a7 F7 {537 ATAT 247 T=14T #1415

[Option ID = 174]
3. Increased/F=ZM@ET AT &

[Option ID = 175]
4. Neither Reduced nor Increased/ AT #9 %70 £ 57 7 21 9414 2

[Option ID = 176]

Correct Answer :-
* [ncreased/ FZATHATATE



[Option ID = 175]

45) The minimum height of OHE in the loco shed should notbe less than
TTHT 9T 7 ATHZ H ~=A7H FAT% THH T2l 2T Anerl

[Question ID = 45]

. 560 m/560 Hi

[Option ID = 177]
2. 580 m/580 Hl

[Option ID = 178]
3. 575 mi5.75 11

[Option ID = 179]
4. 480 m/4 80 Hi

[Option ID = 180]

Correct Answer :-

* 580 m/580 Hi

[Option ID = 178]

46) Minimum Safe working distance for 25 kv OHE is .
[Question ID = 46]
1. 210 m/ 2.10 1
[Option ID = 181]
2. 225 mi225 4
[Option ID = 182]
3. 2.00 m/2.00 ¥
[Option ID = 183]
4. 550 m/5.50 HT
[Option ID = 184]

Correct Answer :-
® 2.00 mf2.00 =T
[Option ID = 183]

47) In OHE the fittings, which is used to transfer the weight of contact wire to the
catenary wire is called

o= 7 T | ST 39T I9% 977 F T979 F e 917 7 ZAR F74 F (070 1547
[Question ID = 47]
1. C-Jumperdi-s=q7
[Option ID = 185]
- Drop jumper/z7g F997
[Option ID = 186]
3. Dropper/zi=

[Option ID = 187]
4. None of the given option/ T i EseaT & 7 %12 721

[Option ID = 188]

Correct Answer :-
* Dropper/zia+

[Option ID = 187]



48) |n'OHE PTFE short neutral section can be instalied on difficult lecations, how
close i can be ifinstalled before a stop signal?

AT TR STTE eI ST T F 5 ST 9 S e S e £, =

R R o M | B B 7 B K 38 7 A B M )
[Question ID = 48]
1. 120m/120 A7
[Option ID = 189]
2. 180 m/180 ¥

[Option ID = 190]
3. 200 mf200 =

[Option ID = 191]
4. 400 m/400 =7

[Option ID = 192]
Correct Answer :-

® 200 mf200 7

[Option ID = 191]

49) In OHE in-span droppers ina span of 63 m are numbers
R s B b T e | e 2 e AT 21T 2

[Question ID = 49]

1. 6

[Option ID = 193]
2. g

[Option ID = 194]
3.8

[Option ID = 195]
4. None of the given option/ = FEF=9T & T 512 721

[Option ID = 196]

Correct Answer :-
° B

[Option ID = 195]

50) In OHE cadmiumcopper is usedin place of hard drawn copper for AC catenary

wire -
A= WA HeA T A ® 00 Z1E ST A & AT U RS T AT T A AT
ST E

[Question ID = 50]
' To increase tensile strength of catenary/Fea7T 7 ZrareeT sIf5F 2 & fm

[Option ID = 197]
2. Toincreases current carmying capacity/sTeT T2 95T T2 F [

[Option ID = 198]
3. To reduce the weight of catenary@=a+1 FT T F9 F70 & {707

[Option ID = 199]
4. None of the given option/ = T EF=9T 5 7 %12 727

[Option ID = 200]

Correct Answer :-



* Toincrease tensile strength of catenary/ =<1 T ZaT2 1% T217 & 717

[Option ID = 197]

51) InOHE is the breaking load of contact wire.
ATHE H HIOE AT FTATHTATZE |
[Question ID = 51]
- 1000 kg/1000 fFIT
[Option ID = 201]
2. 1250 kg/1250 T

[Option ID = 202]
3. 1200 kg/1200 T

[Option ID = 203]
4. 3805 kg/3905 T

[Option ID = 204]
Correct Answer :-
® 3805 kg/3905 T

[Option ID = 204]

52) In OHE whatis the colourcode given to Large span ending clamp?
AT H AT EA19 TSI FTH ] DI AT 9 KT RZ (247 47 27

[Question ID = 52]

1. Whiters=

[Option ID = 205]
2. Green/gam

[Option ID = 206]
3. Red/erer

[Option ID = 207]

4. None of the given option/ T 1 FEFe=9T 5 7 F12 721
[Option ID = 208]

Correct Answer :-

® Red/=Te1

[Option ID = 207]
53) In OHE, must replace item during POH of ATD is _
AL, UEIE & YA & B0 (% ATEEH Dl AG5T A= =41 AR |

[Question ID = 53]
1. All Bearings / o7 =i
[Option ID = 209]
2. g Tinsulator/ 9 & 7127
[Option ID = 210]
3. 38 rope/mTHTE T
[Option ID = 211]
4. None of the given option/ T i EseaT & 7 %12 721
[Option ID = 212]

Correct Answer :-
® All Bearings / @7 #a{
[Option ID = 209]



54) InTRD, Plvalue of the transformer is calculated forthe healthiness of

TSI EEEET ® PLHW AT FrrEaT F o T STar g |
[Question ID = 54]
. Core/ #1%

[Option ID = 213]
2. Insulation/Z= s

[Option ID = 214]
3. Winding /aTEf=T

[Option ID = 215]
4. None of the given option/ = FEF=9T & T 512 721

[Option ID = 216]

Correct Answer :-

® Insulation/Z e

[Option ID = 214]

55) Thelength of earthing electrode in TSS is .

ETE H ATEA TOFeE B Ad1E glila |l
[Question ID = 55]
T 4 mi4Hr
[Option ID = 217]
2. Bmis AT
[Option ID = 218]
3 gm/gHr

[Option ID = 219]
4. |15 mi15 =7

[Option ID = 220]

Correct Answer :-

® 4 m/ar

[Option ID = 217]

56) InTRD, OCR-lis a protection against .

ZHAET H ,0CR- EACEE- e

[Question ID = 56]

1 Sustained over Currents due to over load /5% 917 F FT707 G174 97 199
Tl
[Option ID = 221]

,. Over current due fo earth fault away from TSS/ZTTHTH # 57 79 Flee T HT
AT FE |
[Option ID = 222]

3. Sudden nse of current due to earth fault! 30 ®ieee H1291 T2 &7 AFT95 2471
[Option ID = 223]
Sudden nse of current by 200% of normal current due to any reason/

" TEAT AT EEW T FE w6 AE AT 92 9 200% 7 JET

[Option ID = 224]

Correct Answer :-
® Sudden rise of current due to earth fault! 307 wi==® F170 7= &7 AITTF TEA71
[Option ID = 223]



57) DPRrelayisusedin TSS for .

DPR 1 #7377 TSSH o T ST 2
[Question ID = 57]
1. OHE protection / =2 g7=7

[Option ID = 225]
2. Transformer protection / ZTFAT T

Option ID = 226

3. [anh QHE prn]t}le::ti[:-n and Transformer protection protection/ ATT=2 FEHT U= ZHEHZ THT 2 M]
[Option ID = 227]

4. None of the given option/ = 7 e & 7 %12 727
[Option ID = 228]

Correct Answer :-

® OHE protection / 4rm=2 5747

[Option ID = 225]

58) InTRD, RTU is kept at Y
HAETH , RTUFT O7 TET AT

[Question ID = 58]
1. TSS&maTT

[Option ID = 229]
2. SpoadT

[Option ID = 230]

3. SSPfmETEUT
[Option ID = 231]

4. All the three locations / 77 =979
[Option ID = 232]

Correct Answer :-

o All the three locations / 74T #4979

[Option ID = 232]

59) SEDin railway electrification means. .
i fer AT 5 SED F 9 EIATE |

[Question ID = 59]

- Structure Erection drawing / &= a7 28T
[Option ID = 233]

2. Standard erection drawing / 9% 7T 1277

[Option ID = 234]
3. Stable elementary drawing / T T=a® =121

[Option ID = 235]

4. None of the given option/ & fEsear & 7 F12 727
[Option ID = 236]

Correct Answer :-

® Structure Erection drawing / 97==T =TT 22T
[Option ID = 233]



60) InTRD, 2 X 25 kV AC system, (160 kmph fit OHE) at obligatory mast the ideal track
separationis__
TRD, 2 X 25 kV AC == 7, (OHE # 160 T+ 717 92 [he) AT ad Aeiies 1 9re

U7 ATEE £ AT EATE |

[Question ID = 60]
1. 150 mm to 700 mm/150 &= & 700 &7

[Option ID = 237]
2. 290 mmto 550 mm/2g90 T I 550 =T
[Option ID = 238]
3. 280 mm to 700 mm/290 =T & 700 59T
[Option ID = 239]
4. None of the given option/ & fEse=aT 5 7 F12 727
[Option ID = 240]
Correct Answer :-
® 290 mmto 550 mm/280 =T 7 550 TH=T
[Option ID = 238]
61) How many traction motors are provided in WAG — 12 B locomotive?
WAG—12 B ATHTH Tha«T o qe7 7

[Question ID = 61]
1. B

[Option ID = 241]
2. 4

[Option ID = 242]
3. g

[Option ID = 243]
4. 2

[Option ID = 244]
Correct Answer :-
° 8
[Option ID = 243]
62) Whichtest(s) are carmed outon 3-phase induction motortype BFRABDBS?
BFRABO6S THTT il a1 HI=7 & & (7 AT () T90 (4 AT 2 ?

[Question ID = 62]
1. IR measurement / =% A= 779

[Option ID = 245]

2. Inductance measurement / =% JTT

[Option ID = 246]

3. Core loop test/ ®1% 79 9fz&mm
[Option ID = 247]

4. All of the given option /=sfi = fawe7
[Option ID = 248]

Correct Answer :-

¢ All ofthe given option /= Fr fas=7

[Option ID = 248]



63) In which 3—phase locomotive traction motors are fully suspended?
T 7 3T AT T ST F=7 IO AEY=T 272

[Question ID = 63]
T WAP-5

[Option ID = 249]
2. WAG-9

[Option ID = 250]
3. WAP-S&WAPT

[Option ID = 251]
4. WAP -7
[Option ID = 252]

Correct Answer :-
® WAP-5
[Option ID = 249]

64) |n WAP—7 locomotive, what for angle transmitter is used?
WAP—7 FTehT & T E[FH 1T FT 399 FT £2
[Question ID = 64]
1. TE/BE control / TE/BE FTT
[Option ID = 253]
2. Traction control / Zm #2710
[Option ID = 254]
3. Braking control / & & T #2149
[Option ID = 255]
4. None of the given option/ &= 7 T & 7 %12 727
[Option ID = 256]

Correct Answer :-

* TE/BE control/ TE/BE %z

[Option ID = 253]

65) Whatis the name of switch used for acknowledging the faultin WAP-7
locomotive?

WAP-7 75T 7 I7e A T Ferl & 1070 &l 9] Bad g7

[Question ID = 65]
1. BPFL

[Option ID = 257]
2. BRVR

[Option ID = 258]
3. BPFA

[Option ID = 259]
4. BPCS

[Option ID = 260]

Correct Answer :-

° BPFA

[Option ID = 259]



66) Whatindication will be observed, when one sub system gets isolate in WAP-7
locomative?

WAP-7 FT%T 5 T 59 [Heeq ATFAZ 20 T2 70 TH017 H1 2215907 THe?
[Question ID = 66]
1. Priority-1fault / 9819211 T

[Option ID = 261]
2. Priarity-2 fault/ 991 =1-2 w7

[Option ID = 262]
3. Priority-1 & priority-2 fault/ SATHE-1 Wes &7 qEATTER2 TFE

[Option ID = 263]
4. None of the given option/ & 7 fEseaT 5 7 F12 727

[Option ID = 264]
Correct Answer :-
*  Pronty-1fault/ @211 w1

[Option ID = 261]

67) In WAP-T locomotive, pressing of which switch will acknowledge the VCD?
WAP— 7 FT0T 5 %17 97 (oA =17 O A10=T U o0 21T?

[Question ID = 67]
1. PSA

[Option ID = 265]
2. BPFA

[Option ID = 266]
3. BPFL

[Option ID = 267]
4 BPCS

[Option ID = 268]

Correct Answer :-

® PSA

[Option ID = 265]

68) |y WAP-T locomative, in which instance(s) Priority-1 massage will appear on
‘screen?

WAP—7 TTThT A T 21— | T8 T 97 = 9% [2aT?

[Question ID = 68]
If Reverser is set when MR pressure is below 6 4kg/cm?®

MR =17 6.4 FFavasi= & %9 g 7 Foaas &1 32 e

1.

[Option ID = 269]
If throttle is operated without releasing parking brakes

YT ST ToeiTar AT Fod 7 ATe FT A9ae AT

[Option ID = 270]
If throttle is operated without recharging BP to Skg/cm?®

AF ITET F7 5.0 FFTVEHE FF FH10 9 Fd 20 A2 w AT AT

[Option ID = 271]
4. All of the given option /=1 &= w7

[Option ID = 272]



Correct Answer :-

® All ofthe given option /=1 &= f=Fe7

[Option ID = 272]

69)  In WAG- Slocomotive, if ZTEL switch is in ON position, what will be the
maximum TE?

WAG-9 FT%T H§ #3717 ZTELREFS 501 2 A7 ATFas i Taaar g1m?

[Question ID = 69]
1. 300 KN / =T =127

[Option ID = 273]
2. 250 KN / f&eT =2

[Option ID = 274]
3. 350 KN / it e

[Option ID = 275]
4. 200 KN / BT =g
[Option ID = 276]

Correct Answer :-

® 300 KN/ ToerT =z

[Option ID = 273]
70)  Whatis the periodicity of IC schedule of WAG- 8 locomotive?
WAG-9 TTHTF  1C =T i AT e el 272

[Question ID = 70]
1. 120 days /120 &7

[Option ID = 277]
2. 270days (270 =7

[Option ID = 278]

3. 180 days /180 =7
[Option ID = 279]

4. 90 days /90 =7
[Option ID = 280]

Correct Answer :-

® 270days {270 =7

[Option ID = 278]
71) In WAP—Tloco, below which cubicle, Control Electronics—1(VCU-1) rack is
provided?

WAP-7 FTT | ®e el 2aal =9 —1(VCU-1) 7% T #Tase & A= 71 22

[Question ID = 71]
" HB2

[Option ID = 281]
2. 5By

[Option ID = 282]
3. HB1

[Option ID = 283]
4. SB2

[Option ID = 284]



Correct Answer :-
® SBi1

[Option ID = 282]

72) In WAP -7 locomotives, what is the rating of IGBT based Auxiliary converter?
WAP—7 TTT%1 5 IGBT AT Ao 1471 Frde? 1 72 [l 52

[Question ID = 72]

1. 130KVAI FHm

[Option ID = 285]
2. 100KVAFRTET

[Option ID = 286]
3. 150KVARRTET

[Option ID = 287]

4. 1BOKVARTET
[Option ID = 288]

Correct Answer :-

* 130KVA/ FHfam

[Option ID = 285]

73) How many WRE modules are provided in WAG-8 loco having GTO based
auxiliary converter?

WAG-8 ATHT § GTO AU A 147 T Frz=s ¥ (ohad WRE JI=171 £7
[Question ID = 73]
1. |

[Option ID = 289]
2. 3

[Option ID = 290]
3. B

[Option ID = 291]
4. 9

[Option ID = 292]

Correct Answer :-

* 3

[Option ID = 290]

74) In WAP-Tlocomotive, auxiliary compressor works on which supply?
WAP—7 AT H S 1931 Ho47 (e 018 97 374 9 o7

[Question ID = 74]
1. 1 —phase 230V AC / 1%, 230 FTe= TAT

[Option ID = 293] )
2. 3-phase, 415VAC/ 3-%, 41537= 74T

[Option ID = 294]
3. 110 VDC/ 1109 F 12T

[Option ID = 295]
4. 1-phase 110 VAC / =57, 110 dTe= 74T

[Option ID = 296]



Correct Answer :-

e 110VDC/ 110 T F1=4T

[Option ID = 295]

75) In WAP —7 locomotives, which auxiliary motors work in cocling mode?
WAP=7 ST | I AT Ao (471 A= FIeA7 A12 7 H14 FHoedl g7

[Question ID = 75]
1. Qil cooler blower 182/ ATz Fo17 ZATA7 — 1 #17 2

[Option ID = 297]
Both traction motor blower & both machine room blower/
T SR IS A T97 A9 211 HEA [ = 2157

[Option ID = 298] )
Both machine room blowers & their scavenger blowers /

[Option ID = 299]
4. All oil pumps | 4T Stz 779

[Option ID = 300]

Correct Answer :-
Both machine room blowers & their scavenger blowers /

L] e = E - At =

[Option ID = 299]
76) During normal operation of WAP-9 loce, which auxiliary converter feeds baftery
charger?

WAP-QATHI & HIHTT &4 ®id A9d &9 A7 AT G0 1991 Fdce? ded 1 ST a0

[Question ID = 76]
1. Auxiliary converter-1 / siigae 1@+ 1 Fade -1

[Option ID = 301]
2. Auxiliary converter—2 / s 47 T hiqaci—2

[Option ID = 302]
3. Auxiliaryconverter-3 / s iiadT #9427 3

[Option ID = 303]
Directly from auxiliary winding through transformer / 1er g @71 = =T T
ZTHHHT ZTT

=

[Option ID = 304]

Correct Answer :- Deleted

77) In WAP -7 locomotives, which compressor(s) are provided in machine room?
WAP—T TITHT 5 F17 47 (7) Fo997 7907 =7 7 27

[Question ID = 77]

1. Main compressors [ 89 #9797

[Option ID = 305]
2. Awxliary compressor / Seae (7 1 eI

[Option ID = 306]
3. Both main & auxiliary compressors | 57 57 S 14¢ T #5497 2141

[Option ID = 307]



4. None of the given option/ &= fEFear & 7 712 727
[Option ID = 308]

Correct Answer :-

*  Auxiliary compressor / Sead (47 | HeiT

[Option ID = 306]

78) With respect to rotary switch no 152 in WAG- 9 locomotive, which
statementl(s) are correct?

WAP—7 ATHT 5 T124] 799 F.152 F T2 F BT (7) FI7 721 22

[Question ID = 78]
1. It is for failure mode operation / 2 e $e97 |72 #9197 & T 2

[Option ID = 3Q9]
2. It has 2 positions | &= %7 2 T 2147 2

[Option ID = 310]
3. Inposition—1, step control is available / 951771 9% #29 &% 3901ed 2

[Option ID = 311]
4. All of the given option /=1 &= w7

[Option ID = 312]

Correct Answer :-

® All ofthe given option /= For fag=7

[Option ID = 312]

79) In WAGS locomotive, whatis the setting of main compressor pressure swiich
(RGCP)?
WAG-9 TTHT 5 #7 F5907 %l 9917 1639 (RGCP) Ff T Fraai 272

[Question ID = 79]
Open— 8.5Kg/cm® & Close— 5 0Kg/cm?®
" g8 ST d 9=-5.0 v

[Option ID = 313]
Open— 10Kg/cm? & Close— 8.0Kg/icm?

- 10 v adT siv 32-8.0 TeavaEr

[Option ID = 314]
Open— 10Kg/cm? & Close— 6 0Kg/lcm?
=10 T 57 9%-6.0 FFrvaET

[Option ID = 315]
Open—105Kg/icm?® & Close—8 5 Kglom?
FAT-10.5 AT A7 2-8.5 fmnEse

[Option ID = 316]

Correct Answer :- Deleted

80) In WAP —T7 locomotives, what i1s BP pressure if A9 handle is in emergency
position?

WAP—7 FTHT H 577 A-Q ZTHTRHT A5 1417 97 AT AT H Fhefel1 7977 772

[Question ID = 80]
1. 20Kgicm® | 2.0 T

[Option ID = 317]



2. 25Kglem* | 2.6 TEOTAHE

[Option ID = 318]
3. 35Kglcm® | 3.5 TEaTAETE

[Option ID = 319] )

4. 0Kglem? [ oFmmaEre
[Option ID = 320]

Correct Answer :-

o OKglem® |  OFsuvise

[Option ID = 320]

81) In WAP —T7 locomotive, when PTDC is used?
WAP-7 SiT#T § PTDC 71 39341 F9 Fi9 27

[Question ID = 81]
1. |f BP pressure not building / #7737 17 A7 27 727 27

[Option ID = 321]
2. |f case of Non-functionality of Cock no 70/ %1% #-70 T AT %7 72T 2T

[Option ID = 322]
3. If Brake electronics fails / 5% FeTe] 71 el 21

[Option ID = 323]
4. None of the given option/ T i EseaT & 7 %12 721

[Option ID = 324]

Correct Answer :-

* |f Brake electronics fails / 5% 2o {79 w1 21

[Option ID = 323]

82) What s the type of bogie of WAG-12B locomotive?
WAG—12 B 7T%T # T w17 &1 9731 211 22

[Question ID = 82]
1. Co-Co

[Option ID = 325]
2. Bo-Bo

[Option ID = 326]
3. B-B

[Option ID = 327]
4. None of the given option/ = 7 =1 5 7 %12 727

[Option ID = 328]
Correct Answer :-

* Bo-Bo

[Option ID = 326]

83) In WAG- 9 locomotive, how many Aclathan Rings are provided?
WAG-Q 1T F T v 99 272

[Question ID = 83]
1. 2

[Option ID = 329]



2.3

[Option ID = 330]
3. B

[Option ID = 331]
4. 4

[Option ID = 332]
Correct Answer :-
* 4

[Option ID = 332]

84) Inwhich 3 —phase locomotive(s) traction links are provided?
FT I 35S ATTT H S T 22

[Question ID = 84]

1. WAP-5

[Option ID = 333]
2. WAG-9

[Option ID = 334]
3. WAP-7

[Option ID = 335]

4. All of the given option /=1 For faFs7
[Option ID = 336]

Correct Answer :-

® All ofthe given option /= For fase7

[Option ID = 336]

85) Whatis the flange wear limit WAG-9 locomotive?
WAG-9 771 7 Fiar = 7 foifae e 22

[Question ID = 85]

T 3 mm/ 3T

[Option ID = 337]
2. 4 mm/ 45T

[Option ID = 338]
3. 5mm/ 5 fEET

[Option ID = 339]
4. Bmm/ 6 TFET

[Option ID = 340]

Correct Answer :-

* Imm/ afEET

[Option ID = 337]

Topic:- AEE_PB_NAIROCT4
1) Which ofthe following religion did Ashoka embrace?
ST 7 (e oI5 o[ Aa7aT 97 ?

[Question ID = 86]
1. Buddhism/@1= 59



[Option ID = 341]

2. Jainism/ =7 &9
[Option ID = 342]

3. Islam/z=a EE
[Option ID = 343]

4. Chnstianity/ 2472 25
[Option ID = 344]

Correct Answer :-
* Buddhism/@T= 79

[Option ID = 341]

2) Whatwas Buddha's real name?
A= FTATEATAE ATH 97T 977

[Question ID = 87]
1. Siddharthal frEr

[Option ID = 345]

2. Jainism FT 29
[Option ID = 346]

3. Shuddhodan / sfETae

[Option ID = 347]
4. Kanthak/ &%

[Option ID = 348]

Correct Answer :-

e Siddhartha/ Fr=zr

[Option ID = 345]

3) Which among the following is the oldest and biggest amongst all the four
Vedas?

forer =TT 2131 e T A A AT AT AT g 7
[Question ID = 88]
1. Rig Veda/ 7=3=

[Option ID = 349]

2. Samavedal aTHE=
[Option ID = 350]

3. Atharva Vedal 59443

[Option ID = 351]
4. Yajur Veda/ 7543

[Option ID = 352]

Correct Answer :-
* Rig Veda/ 7=9=

[Option ID = 349]

4) Which two freedom fighters threw smoke bombs at the Delhi Central
Legislative Assembly in 19297

1929 F =it st ararrars 7 T F £ 37 o307 Tariaar 7 50 9 &a 47 7

[Question ID = 89]
1. Bhagat Singh and Subhash Chandra Bose/ 577 f8E 74 477 52 919



[Option ID = 353]

2. Bhagat Singh and Batukeshwar Dutt s fig ma sg#as ==
[Option ID = 354]

3. Bhagat Singh and Mangal Pandey/ w31 &g 7 5777 qmve

[Option ID = 355] )
4. Bhagat Singh and Chandrashekhar Azad/ s97a (42 74 92477 =12

[Option ID = 356]

Correct Answer :-
¢ Bhagat Singh and Batukeshwar Dutt’ 579 &g 78 sgssa7 ==

[Option ID = 354]

5) Whoamong the following was a well-known revolutionary aclivist and leader
of the Hindustan Socialist Republican Association (HSRA)?

e 7 R EEea weies Tt aaanee (HRSA) 6 TS wiiaared,
FEEATE AT I7

[Question ID = 90]

1. Bhutabhai Desai/ 97m47E =978

[Option ID = 357]
2. Chandra Shekhar Azad/ 335737 9=

[Option ID = 358]
Chharkravarti Rajagopalcharn STsami 1T 9T =17 |

[Option ID = 359]
4. Behramji M Malabari/ Tg=T9=1 7, ATATATT

[Option ID = 360]

Correct Answer :-
e Chandra Shekhar Azad/ S557&7 A=

[Option ID = 358]
6) In which year was an emergency declared in India?
ATTH H STATaETT A S0 (AT AT 977
[Question ID = 91]
1. 1984

[Option ID = 361]
2. 18975

[Option ID = 362]
31991

[Option ID = 363]
4. 1993

[Option ID = 364]

Correct Answer :-

e 1975

[Option ID = 362]
7) Bharatnatyamdance was ornginated in—

[Question ID = 92]
1. Tamil Nadw/ Ff&7=



[Option ID = 365]
2. Keralal &

[Option ID = 366] )

3. Andnra Pradesh/ Airs 9297
[Option ID = 367]

4. Uttar Pradesh/ 57 7=9T
[Option ID = 368]

Correct Answer :-

®  Tamil Nadw/ 7faers

[Option ID = 365]

8) Lavaniisa famous folkdanceof .
EIERIRLE IEC-801 ks [ - S

[Question ID = 93]
1. Rajasthan/ 715z

[Option ID = 369]
2. Maharashira/ 5gr71g

[Option ID = 370]
3. Kerala/ &

[Option ID = 371]
4. Karnataka/ F7=%

[Option ID = 372]
Correct Answer :-

e Maharashira/ 9g1712

[Option ID = 370]
9) MF. Hussainisassociatedwith ...

[Question ID = 94]
1. Painting/ Ha®m1
[Option ID = 373]

2. Music/ T3
[Option ID = 374]
3. Dance/ T

[Option ID = 375]
4. Drama/ A 1=®

[Option ID = 376]
Correct Answer :-
* Panting/ &=F®rT

[Option ID = 373]
10) Ustad Amjad Ah Khan is famous for playing which of the following
instruments?
FEATE AHAZ AT DT (79 | 7 (6 A4 & A1 & (070 Iz 27

[Question ID = 95]
1. Tabla/ #==11

[Option ID = 377]



2. Flute/ 77

[Option ID = 378]
3. Sarod/#FeT=

[Option ID = 379]

4. Harmoniumy ZFATZH
[Option ID = 380]

Correct Answer :-

* Sarod/ T =

[Option ID = 379]

11) Which ofthe following monuments belongs to UNESCQ's List of World
Heritage Sites in India?

qA F 9 58T T 97 TAFF TahT F7 (43 A g= T Faiaa 207
[Question ID = 96]
1. Vaishno Dewi/ =T =T
[Option ID = 381]
2. Khajuraho/=@=71ar
[Option ID = 382]
3. Krimchi Temple/ 527

[Option ID = 383]
4. Akshardham Temple/ S97=Ta AT=7

[Option ID = 384]
Correct Answer :-
¢ Khajuraho/ F=7Ter

[Option ID = 382]

12) Which ofthe following festivals is associated with harvest?
B e B e I e i B A e e ot

[Question ID = 97]

1. Pongal/ 9mmer

[Option ID = 385]
2. Guru Pumima/ = giirAT

[Option ID = 386]
3. Easter I+

[Option ID = 387]
4. Eid-Ul-Fitrl =5

[Option ID = 388]

Correct Answer :-
*  Pongal/ 97

[Option ID = 385]

13) The Annual Boat Race Festival is held in which state?

[Question ID = 98]
- Kerala/ F7

[Option ID = 389]



2. Goal =T

[Option ID = 390]
3. Odnhisha/ F2@T

[Option ID = 391]
4. Tamil Nadu/ sf&==rz

[Option ID = 392]

Correct Answer :-
® Kerala/F7

[Option ID = 389]

14) The Council of Minister is responsible to —
FEufug saEEg 2mr e-

[Question ID = 99]
1. President/ 7TE9fa

[Option ID = 393]
2. | ok Sabha/ = TF @41

[Option ID = 394]
3. Rajya Sabha/7/=g 941

[Option ID = 395]
4. Parliament/ #9=

[Option ID = 396]
Correct Answer :-
® | ok Sabha/=T® 741

[Option ID = 394]

15) The Electoral College which elects the Vice-Presidentis the

[Question ID = 100]
1. President & the Cabinet/ 71g91T & F=+=

[Option ID = 397]
2. |Lok Sabha/# T 74T

[Option ID = 398]
3. Rajya Sabha/71=3 @47

[Option ID = 399]
4. Lok Sabha and the Rajya Sabha &1% 957 7 7799 7797

[Option ID = 400]

Correct Answer :-

e Lok Sabha and the Rajya Sabha #T® @47 7 7799 797

[Option ID = 400]

16) Whichaccountis audited by "CAG™
‘CAG" % 2T Th## S%E132 &1 4l (22 [F47 711 27

[Question ID = 101]
1. Public enterprises and cenfral agencies/ T =1m® 327 3 &ea (4 92473 &1

[Option ID = 401]
2. Only for state government/ %= 7757 H7HT1 &7

[Option ID = 402]



3. Only for central government! %= s T2 &1
[Option ID = 403] _
Central govermment state govemment or any other gavemment agency/

[Option ID = 404]

Correct Answer :-
Central govemmentstate government or any other govemment agency/

° _ .
ez TLT7. 19 T AT ToafT A= ToTe T Ot o7

[Option ID = 404]

17) Indian constitution describes India as?
T AAHT ATOF HT (54 =9 H A1009 FAl 57

[Question ID = 102]
1. Quasy Federation state/ 55 @7 7159

[Option ID = 405]
2. Group of Independent states/ == 71541 #1 99z

[Option ID = 406] i
3. Union of states/ 7TsaT FT 89

[Option ID = 407]
4. Dominion of free states/ STTETHTT =41 FT 9T
[Option ID = 408]

Correct Answer :-
e Union of states/ 7747 =1 79

[Option ID = 407]

18) Lowerhouse of Parliamentis called
[Question ID = 103]
1. State Council/ 7/=a 9Fv9%

[Option ID = 409]
2. State legislative assembly/ 717 faam= o7

[Option ID = 410]
3. Rajasthan/ 71#7 7<7

[Option ID = 411]
4. Loksabha/#T® @47

[Option ID = 412]

Correct Answer :-
e | pksabha/ =T 4T

[Option ID = 412]

19) Whatis the total numberof Lok Sabha members at present?
FAATA A ATE THT T=247 6T Feq TeAT Fhasi 22
[Question ID = 104]
1. 580
[Option ID = 413]
2. 560

[Option ID = 414]
3. §45



[Option ID = 415]
4. 550
[Option ID = 416]

Correct Answer :-

e 545
[Option ID = 415]

20) The Constitution of India came info force on
T ®T A G B TATA] ZHAT

[Question ID = 105]

1. 15" August 1947/15 =ea 1947
[Option ID = 417]

2. 26" January 1950/ 26 74771 1930
[Option ID = 418]

3. 26 January 1948/ 26 F7=7T 1949
[Option ID = 419]

4. 26 August 1949/ 26 75T 1949
[Option ID = 420]

Correct Answer :-

o 26t January 1950/ 26 4+ T 1950

[Option ID = 418]

21) Which languages are mentioned in the Constitution forthe execution of work
of Parliament?

HAEIE FAT & FETAAT & 10 ATGLT 3 B T 7 Iewd 22

[Question ID = 106]
1. English and Tamil/ == 7 af5

[Option ID = 421]
2. Urduand English/ =3 & ST

[Option ID = 422]
3. Hindi and Urdu/ 23719 73

[Option ID = 423]
4. Hindi and English/ T23T 7 sasiT

[Option ID = 424]

Correct Answer :-

* Hindi and English/ fZ3T 7 =T

[Option ID = 424]

22) The Supreme Court of India can issue order directly with respect to which of
the following?
A F HA g AT e O s At H TS I AT 7

[Question ID = 107]
1. Neither a fundamental nor a legal right’ 7 a7 HTe7% & AT &1 BIAT 1 SHT7

[Option ID = 425]
2. Legal nghts only/ e H0 ATEHIT

[Option ID = 426]
3. Fundamental Rights only/ a1 HTfo® sE®T

[Option ID = 427]



4. Both fundamental and legal rights/ ®Ti=1 T ST ARET 3191
[Option ID = 428]

Correct Answer :-

e Fundamental Rights only/ Faw FTio® ATEHT

[Option ID = 427]

23) Whoisthe Chancellor ofthe State universities?

T o ATt i Fertea i F gran g2

[Question ID = 108]
1. State Registrar General/ 777 7Toe2e @77

[Option ID = 429]
2. Governor of the State/ 7757 FT 775777

[Option ID = 430] _
Minister of State for Human Resource and Development/ 7750 & AT

AT o T 7441
[Option ID = 431]

4. President of India/ 9179 % 77271
[Option ID = 432]

Correct Answer :-
® Gavemorof the State/ 7757 F7 FT599TT

[Option ID = 430]

24) How many members of the Rajya Sabha can be nominated by the President
of India?
ST % TR 2197 7159 HAT | (b H257 FAH(T (%9 =] 9% 27

[Question ID = 109]

100

[Option ID = 433]
2. 12

[Option ID = 434]
3..50

[Option ID = 435]
4. q

[Option ID = 436]

Correct Answer :-
° 12

[Option ID = 434]

25) Which of the following portis situated at the mouth of the Gulf of Kutch?
Foeg bl GIET & T+ U7 = H R AT A7 FA 29

[Question ID = 110]
1. Porbandar/ 97427

[Option ID = 437]
2. Mumbai/ =%

[Option ID = 438]
3. Kﬂl’l{”ﬂ .I'J'E‘EJ.:.“

[Option ID = 439]
4. Mormugaon / FFTITET



[Option ID = 440]
Correct Answer :-
° Kﬂl’l{”ﬂ .I'J'E‘ialc.ﬂ

[Option ID = 439]

26) Where are one-homed rhinoceros found in India?
TEA H T #HIT 1T AT Fgl GTAT SITav 22

[Question ID = 111]

1. Assam/ 558

[Option ID = 441]
2. Madhya Pradesh’ 5= ¥=sT

[Option ID = 442]

3. Bihar/ FgEr
[Option ID = 443]

4. Meghalaya/ F=m59
[Option ID = 444]

Correct Answer :-
® Assam/ 599

[Option ID = 441]

27) Inwhich ofthe following location is the Brahmaputra River known as Tasang
Pa?
T & & Tohe £9T9 97 AT AT B0 ATT-HT 6 719 4 A7 AT 22

[Question ID = 112]
1. Pakistan/ 9rirearT

[Option ID = 445]
2. Nepal/ 79177

[Option ID = 446]
3. Bangladesh/s =

[Option ID = 447]
4. Tibet feae

[Option ID = 448]
Correct Answer :-
® Tibet F=ag

[Option ID = 448]

28) A commercial bank normally pays nointerest on—

[Question ID = 113]
1. A savings deposit account/ TF =99 97 @19 97

[Option ID = 449]
2. A current deposit account! T TR FHT =TT 97

[Option ID = 450]
3. A fixed deposit account/ & ATa T TR @I IY

[Option ID = 451] )
4. Arecurming deposit account/ T sTa=1 ST97 @19 97

[Option ID = 452]



Correct Answer :-
* A current deposit account! T T STET @19 97

[Option ID = 450]

29) RBlis the Regulatory Authority for
AT e # e o s aear g

[Question ID = 114]
1. Banks/ %7 % fro

[Option ID = 453]
2. Banks and mutual funds/ 37 & == %29 & (07

[Option ID = 454] o )
Banks, mutual funds and stock exchanges/ I%7 57 =571 %= 9 =%

3.
[Option ID = 455]
4 Banks, mutual funds, stock exchanges and rating agendes/ a1 =57

o e R o = e R E- L o e e TR TS AL
[Option ID = 456]

Correct Answer :-

* Banks/ 397 & fom

[Option ID = 453]

30) The government of India buys food grains through ..
A TR F 0 T F TR AT g Eary

[Question ID = 115]
1. Food Corporation of India s=#7% ar=r f=amr

[Option ID = 457]
2. National Agricultural Market/ TSR T FT51%

[Option ID = 458]
3. Ministry of Agriculture/ 79 g7

[Option ID = 459]
4. Merchant's shop/ =111 & SHMT T

[Option ID = 460]

Correct Answer :-

* Food Corporation of India A=+ ar=r fFarr

[Option ID = 457]

31) Which ofthe following organisations estimates poverty linein India?
TV 7 9 I AT 94T 1T § WA ] Ahe dal 87

[Question ID = 116]
1. NITI Aayog / 71T ST

[Option ID = 461]

2. CSO/HITHEAT

[Option ID = 462]
3. NSSOmETImH=T

[Option ID = 463] )
4. Finance Commission/ &= s4TT

[Option ID = 464]



Correct Answer :-

* NITI Aayog / #1aT AramT

[Option ID = 461]

32) _____ Software usedto maintain the security of a pnvate network

[Question ID = 117]
1. Eneryption/ =fra=e

[Option ID = 465]
2. Malware /! #1997

[Option ID = 466]
3. Clickbat / fFeraa

[Option ID = 467]
4. Firewall/ w791

[Option ID = 468]
Correct Answer :-
® Firewall/ "E a1

[Option ID = 468]

33) Whatis URL?
[Question ID = 118]

Address of the web page displayed on the intemnet/ =7z 77 =T 9= 99
T AT

1.

[Option ID = 469]
2. Web browser / 39 #1557

[Option ID = 470]
3. A computer software/ T FFAET D97

[Option ID = 471]
4. Searching engine/ AT 297

[Option ID = 472]

Correct Answer :-

. Address of the web page displayed on the internet/ I G A B El e R
T FAT
[Option ID = 469]

34) Whatis the full form of DOS?

[Question ID = 119] _
1. Device Outsourcing System / [Zamzq srz=a1iaT Fe=a

[Option ID = 473]
2. Device Operating System / TZa1=# g7 27 o

[Option ID = 474]
3. Different Operating System ( ETFhz AT 1T Feed

[Option ID = 475]



4. Disk Operafing System / TZ&F s+ {2 fae=q

[Option ID = 476]
Correct Answer :-
o Disk Operating System | TZeF sru=ien fae=a

[Option ID = 476]

35) Whao is the caretaker President of India in the absence of the President?
e T AT 7 90T FT FAAT2F TTEI B 2107 2

[Question ID = 120]

1. Speaker of Lok Sabha / 7TF TaT & =94

[Option ID = 477]
2. The most senior member of the Rajya Sabha / 7799 T F A7 299 7=

[Option ID = 478]
3. Chief Justice of India / T & T =TATET9T

[Option ID = 479]
4. Vice President of India / 979 % 39 778977

[Option ID = 480]

Correct Answer :-

e Vice President of India /9o % 39 1891

[Option ID = 480]

36) Indian Constitution prohibits the employment of children under years of age-
AT ATALTT 7 37 T A & A1 1 21007 (19s FeaT s —
[Question ID = 121]
14
[Option ID = 481]
2. 7
[Option ID = 482]
3. 16
[Option ID = 483]
4. 18

[Option ID = 484]

Correct Answer :-
® 14
[Option ID = 481]

37) Apotential difference of 50 V is applied across a resistor of resistance 1000
0 for 10 sec. What will be the amount of heat generated in the circuit?
1000 ©Q F7 50 FTe= & dlvea o 10 TH72 & o0 F=r47 Jide F Fmaaramr 1

[Question ID = 122]
1. 250 J/ 250 51

[Option ID = 485]
2. 254/ 25

[Option ID = 486]



3. 500 500 57
[Option ID = 487]

4. 50 /50 971
[Option ID = 488]

Correct Answer :-

® 254/ 259

[Option ID = 486]

38) Jharia (Jharkhand)is famous for
ST (FaTE) s 2 -

[Question ID = 123]

1. Sports goods / &= FTATHT & o7
[Option ID = 489]

2. Copper mines, 77a #7 @211 & 0
[Option ID = 490]

3. Coal mines /&1 %if F=HI & A7
[Option ID = 491]

4. Gold mines /AT #T @=1 & 411
[Option ID = 492]

Correct Answer :-

* Coal mines / #m& £l G210 % o0

[Option ID = 491]

39) on which river's bank is Panaji located?
qus{[ {oe T4l % (=AY (99 22

[Question ID = 124]
1. Mondovi /AT=4T

[Option ID = 493]
2. Zuan/ =T

[Option ID = 494]
3. Sal AT
[Option ID = 495]
4. Terekhol /! T¥&TT
[Option ID = 496]
Correct Answer :-
® Mondevi/AT=4T

[Option ID = 493]

40) Who is called the father of white revolution in India?

AT § 2 HiTd T S Fheg Fgl AT 8 ?

[Question ID = 125]
- Dr Verghese Kurien/ =7, 737w s

[Option ID = 497]
2. Dr. M.S.Swaminathan/ =7. TH.79, THETET



[Option ID = 498]
3. Dr AP.J Abdul Kalam/ =T, 7175, #5271 F79

[Option ID = 499]
4. Dr. CNR Rao/ =1, #1.09.9717, 779

[Option ID = 500]

Correct Answer :-

® Dr Verghese Kuren/ =1. 737 e

[Option ID = 497]

41) From when didthe Section 3(3) of Official Languages Act come into force?
TISTATAT ATI T H7 g7 3(3) FT AT 227

[Question ID = 126]
1. 10 May, 1965/109 , 1965

[Option ID = 501]
2. 14th September, 1967/14 &=+, 1867

[Option ID = 502]
3. 8th March, 1976/8 A19, 1976

[Option ID = 503]
4. 26th January, 1965 /26 s==+T 1965

[Option ID = 504]

Correct Answer :-

® 26th January, 1965 /26 s==7T 1965

[Option ID = 504]

42) According o Section 3(3) of the Official Language Act, 1963 how many
documents are mandatory to be issued in the bilingual form?

TS ATAT ATEAT 1963 FT 99T 3(3) F ATHAT FAT Tl F g9 iE
=T F AT AT Aard £ 7

[Question ID = 127]
1. 10

[Option ID = 505]
2. 12

[Option ID = 506]
3. 13

[Option ID = 507]
4. 18

[Option ID = 508]

Correct Answer :- [Deleted

43) Conventionally who i1s elected as the chairman ofthe Committee of
Parliament on Official Language?

[Question ID = 128]

1. President/ srgris

[Option ID = 509]
2. Vice President 37 #rgafa

[Option ID = 510]



3. Prime Minister T =T
[Option ID = 511]
4. Home Minister 29T

[Option ID = 512]

Correct Answer :-

* Home Minister T=5=T

[Option ID = 512]

44) What are the fundamental functions ofthe Committee of Pariament on
Official Language?

[Question ID = 129]

1. To work in Hindi/ TE=1 5 #rd F3a7

[Option ID = 513]
2. To Promote the use of Hindi/ TEwT &7 T2 71

[Option ID = 514]
3. Towaork in English/ s3=T 7 %/ #27

[Option ID = 515]
4. To review the progressive use of Hindi/ TZ=T % TITHT 91T 3T T 74T F957

[Option ID = 516]

Correct Answer :-

o To review the progressive use of Hindi/ 27T % SITHT T4 &1 95747 F947

[Option ID = 516]
45) Who's responsible for ensuring thatthe document undersection 3(3) of the
Official Language Actbe issued in both Hindi and English
languages/bilingually?
TIFETIT HT =797 3(3) F AT AT AT BOTATT FT TGS -ATAT 2T H A7 AT

[Question ID = 130]
1. The person signing on the document’ FTTSITT 97 ZEAT47 %7 JT77 A

[Option ID = 517]
2. Head of the Office/ #1397 7519

[Option ID = 518]
3. Rajphasha Officer / TTr=TaT AEETT

[Option ID = 519]
4. Principal head of department’ 75T =7 [A9mm=T9
[Option ID = 520]

Correct Answer :-

e The person signing on the document’ BT 97 ZEAT%7 ®79 J77 A

[Option ID = 517]

46) When may an English translation of a document be asked for?
T =Tt I AT 173 0 /1T F il AT AT 272



[Question ID = 131]

When a document is of a legal or technical nature/ s 12 TAT9 4 15 T AT
1.

[Option ID = 521]
2. Being important / F=Zea97 21

[Option ID = 522]
3. Service related document / HAT FFElT TEATES 2T

[Option ID = 523]
4. Under Rule-7/ e & a0

[Option ID = 524]

Correct Answer :- Deleted

47) According to Official Language Rule-12, whom does the responsibility of proper
compliance of the provisions of the Official Language Act and the Rules made
there under lie with?

TIHTST HAH-12 % AT T HTT A AT 36 AT A0 T e Sy
T AT ATATT BT T2 A1 a0 (e 77 2T € 2

[Question ID = 132]
1. In charge of Rajbhasha section / TT¥T9T AT HT TATT

[Option ID = 525]
2. PHOD of Rajphasha Department/ 77191 T2 7 7917 9147

[Option ID = 526]
3. Adminisirative Head of the office / a3 7 98141 T

[Option ID = 527]
4. Rajbhasha Adhikar / 77537 SATEHET

[Option ID = 528]

Correct Answer :-
o Adminisirative Head of the office / a3 =7 7814 F 7577

[Option ID = 527]

48) Under which Rule the definition of an employee passing of working knowledge
in Hindi is given?

TEr T 5 T T ITE FHAT 6 9aTT e g 47 T g2
[Question ID = 133]
1. Under Rule 6/ Fo9 6 F &=

[Option ID = 529] )
2. Under Rule 8 999 8 & sira9ia

[Option ID = 530]
3. Under Sub-Rule(1) of Rule 5/ /== 5(1) & =917

[Option ID = 531] . ]
Under Rule 10 of Official Language Rules, 1976 /7941 a7 1078 ¥ /a7

10, 5 AT
[Option ID = 532]

Correct Answer :-
. Under Rule 10 of Official Language Rules, 1976 /7Ty FMaT 1076 F FaT

10, F AT

[Option ID = 532]



49) According to Official Language Rules, how many classifications of the regions
of states and union temtones have been made in terms of the use of Hindi?
S B e A N e D T M e B e e B ke R e S T 1
faha & =T | Faftaew AT T 22

[Question ID = 134]
1. One/TH

[Option ID = 533]
2. Two/=T1

[Option ID = 534]
3 Three/ & 9

[Option ID = 535]
4. Four/ =T

[Option ID = 536]

Correct Answer :-
®  Three/ &9

[Option ID = 535]

50) Which form of numerals is to be used for official purposes of the Union?
T 5 ST TA TS & [T A FTFHA-A7 =9 THRT H AT TET?

[Question ID = 135]
1. international form of Indian numerals: T3 1 FT A7 157 =9
[Option ID = 537]
2. Devnagan numbers only/ &4 229011 5%
[Option ID = 538]
3. Basic form of Indian digits/ ST7e74 %1 %1 79 =9
[Option ID = 539]
4. Roman numbers form/ 717 @& &1 =97
[Option ID = 540]

Correct Answer :-

* International form of Indian numerals: ST ST FT A=71519 =9

[Option ID = 537]

51) Which Award Scheme has been infroduced for Collection of Poetry to encourage
the literary talent of Railway Employees?
ATAAT T12 AT 2127

[Question ID = 136]

!+ Maithilisharan Gupt Award Scheme fafisr T8 a7 aTae1

[Option ID = 541]
2. Mahadevi Verma Award Scheme’ H21241 97 T7FF17 T3]

[Option ID = 542]
3. Under Sub-Rule(1) of Rule 5/ =% 5(1) & F=vi

[Option ID = 543]
4. Premchand Award Scheme/ T9== 7817 21571

[Option ID = 544]

Correct Answer :-



® Maithilisharan Gupt Award Scheme/ A4+ {5 T7eF17 FT97

[Option ID = 541]

52) Which Award Scheme has been introduced to promote original book writing in
Hindi on technical Railway subjecis?
AFATH 77 F9Ar uv BET A A® qEAE vEd w0 GreAlied wid & e wie-Ar

[Question ID = 137]
Lal Bahadur Shastri Tagniki Moulig Lekhan Puraskar Yojana/ @7 92137 sIT&ET
CEL AR I E A L-L R R AR E L

[Option ID = 545]

2. Jawahar Lal Nehmu Hindi Award Scheme/ SaT27 7T 725 Tevel D250 17
[Option ID = 546]

3. Rajiv Gandhi Award Scheme/ TT=14 THT TFERT ATaA1

[Option ID = 547]
4. Indira Gandnhi Award Scheme / ST 7T TWERT7 a7

[Option ID = 548]

Correct Answer :-
Lal Bahadur Shastri Tagniki Mouliq Lekhan Puraskar Yojana/ 7T 2137 1T

. s e % N
SR EAR I E A L R R AR E L

[Option ID = 545]

53) Whaois the Chairman of the Kendraya Hindi Samifi?
[Question ID = 138]
- Finance Minister/ fa= =7

[Option ID = 549]
2. Home Minister/ Tz =T

[Option ID = 550]
3. Prime Minister/ T ==

[Option ID = 551]

4. Railway Minister/ 7= =7
[Option ID = 552]

Correct Answer :-

® Pnme Minister Tem==T

[Option ID = 551]

54) Who is the Chairman of the Railway Hindi Salahakar Samiti?
R R B R R 1 o e e 2 2 e s B

[Question ID = 139]

1. Chairman, Railway Board! =7 a4 @12

[Option ID = 553]
2. Finance Commissioner’ =+ A4

[Option ID = 554]
3. Member Personnel/ == FTH%

[Option ID = 555]
4. Railway Minister/ ¥ 54T

[Option ID = 556]

Correct Answer :-



* Railway Minister/ ¥ #=T

[Option ID = 556]

55) What s the preliminary course of Hindi for Central Govemment employees?
FE HTEIT kTN AN & (A0 (221 AT TTHT BIT-A7 22

[Question ID = 140]
1. Praveen/w=mr

[Option ID = 557]
2. Prabodh/9aTe

[Option ID = 558]
3. Pragyal W=t

[Option ID = 559]
4. None of the given option/ = 7 =1 & 7 %12 727

[Option ID = 560]

Correct Answer :-
* Prabodh/wamr

[Option ID = 558]

Topic:- AEE_PC_NAIROCT4

1) What for standard Form-7 is used under Railway Servant (D&A) Rules:
T FEAT (FASTEA TF AT ) AT F T d # i wA-f e o 2wl e g

[Question ID = 141]
- Suspension of employee/ F=TT #7 & e
[Option ID = 561]
2. Appointment of enquiry officer/ == st & Fg®
[Option ID = 562]
3. Toissue major penalty charges sheel/ <75 == ures 7= (Fr=isi=) 7047 FA7

[Option ID = 563]
4. To issue minor penalty charge sheet! 74 == s 7= (I7=eliE) 0970 F97

[Option ID = 564]

Correct Answer :-

* Appointment of enquiry officer! st= sfa=writ & g

[Option ID = 562]
2) Which Authonty is empowered to order for cut in Pension of Retired Railway
Servantunder Railway servant (D&R) Rules proceedings
T FHAT AT OF FAATT 77 FTAATES T 775 FATTGT 7740 FAATT 7 9977 H F2 T

[Question ID = 142]
1. Divisional Railway Manager (DRM) s== = wa== (27 =7 77)

[Option ID = 565]
2. General Manager (GM)/ szrrau=s (=7 7=)

[Option ID = 566]
3. Additional General Manager (AGM)/ 5= sgaaa= (T 37 =)

[Option ID = 567]
4. President of India/ == & w1g=f%

[Option ID = 568]



Correct Answer :-

e President of India/ sm= # 7rgafs

[Option ID = 568]

3) Cana Railway person be reduced under Railway servant (D&A) Rules o a lower
post or grade below his recruitment grade:
ER R T B e R e B e | 7 o G R e o R D el Pl B e i L R R e
TE AT IS 99 F AT ATTFAT 5

[Question ID = 143]
1. Yes/zl

[Option ID = 569]
2. Nol w77
[Option ID = 570]
3. Can be reduced with pay protection/@a= 97471 & 913 F5 Far a1 9547 &

[Option ID = 571]
4. None of the given option/ & 1 fEse=aT 5 7 F12 727
[Option ID = 572]

Correct Answer :-

® No/=gr

[Option ID = 570]

4) The family of Railway servant. who dies during service, may be allowed to retain

Railway accommodation for ... Months on normal rent
R B o e e ) e B e e T L 0 1 e i L S wigAT

= TAT AT AT T o AT S A AEAT 8

[Question ID = 144]

1. g

[Option ID = 573]
2. 12

[Option ID = 574]
3. 18

[Option ID = 575]
4. 24

[Option ID = 576]

Correct Answer :-

24

[Option ID = 576]

5)  Whatis the periodicity of ‘Participation of Railway Employees in Management’
(PREM) meeting at Zonal level:
ST T T TASA ° SAd AR AR (9H) 957 JEaFar 7T

[Question ID = 145]

. Oncein year/ a9 & t&HaT
[Option ID = 577]

2. Once in 6 month/6 =& & Tx a7
[Option ID = 578]

3. Once in 3 month/3 w&H & TEATT

[Option ID = 579]
4. Once in a month/ 555 T =17



[Option ID = 580]

Correct Answer :-

® Oncein 3 month/3 #E9 & TF 317

[Option ID = 579]
6) Whatis upperlimit of child care leave for Railway employees for child care leave
Tors) 9T srEETE (FTEeE 247 AiF) H ATETE AET AT g

[Question ID = 146]
1. 365 days/ 365 ==

[Option ID = 581]
2. 90 days/ 90 ==
[Option ID = 582]
3. 730 days/ 730 ==

[Option ID = 583]
4. 60 days/ 80 ==

[Option ID = 584]

Correct Answer :-

® 730 days/ 730 ==

[Option ID = 583]
7) Theun availed period of joining time admissible to a Railway servantshall be
credited to his/herleave account as:
AT FAAT T HTAATT T2 Foed AT A7 =7 ATHE ITA 7 154 77 #7297 5 92 &9
AT A AE =aT FAT 7

[Question ID = 147]
1. LHAP/ a0 =5 saamsr (e 7 )

[Option ID = 585]

2. AP/ w5 389 daEsT (T THT)
[Option ID = 586]

3. Casual Leave/ srFfeas s=1er
[Option ID = 587]

4. Restricted Holiday/ =/ =tas sawmst
[Option ID = 588]

Correct Answer :-

* AP/ sifFT aaw sraerst (T wHT)

[Option ID = 586]

8) Which one ofthe following is nota penalty under Rule & of DRAR?
e & T 517 FerET 78 A9 AR 1968 T HAH (8) T Agd 505 & #9 A a0d Al g

[Question ID = 148]
1. Censure/ 7t =r

[Option ID = 589]
2. WIT/ s=arlt =9 5 799 i 97 7%

[Option ID = 590]
3. Suspension/ FEET

[Option ID = 591]
4. Compulsory retirement/ wifFamEaaif=g=

[Option ID = 592]



Correct Answer :-
* Suspension/ FEET

[Option ID = 591]

9) Commuted pension of Railway Servantis restored after a period of ...
AT TAT EaT T T TIN A AT s A g e E
[Question ID = 149]
1. 15years/ 15 a9
[Option ID = 593]
2. {2 years/i2 a7
[Option ID = 594]
3. 10 years/ 10 a7

[Option ID = 595]
4. Byears/B ad

[Option ID = 596]

Correct Answer :-

® 15years/ 1579

[Option ID = 593]
10) Railway servantis required to report fo Government any movable property
transaction, if value ofthis transaction exceeds _____.
THET AT HAF FT ITF ST [ A=A AT g 0 ] AT AR FT AT g £, AT AE
AR A A FATETE]

[Question ID = 150]
1. Two month’s Basic Salary/ =7 75/ 594 377

[Option ID = 597]
2. Half month's Basic Salary/ s 55 F 5 a9

[Option ID = 598]

3. One month's Basic Salary/ mssgm &5+ 379
[Option ID = 599]

4. One and Half month’s Basic Salary/ == #g # 77 799
[Option ID = 600]

Correct Answer :-

* Two month'’s Basic Salary/ =rsgm 94 a7

[Option ID = 597]

11)  Maximum number of financial up gradation which can be granted under MACP
are
LR L e R i o o 1 e T | R e P B 2 I | B B e

[Question ID = 151]
1. Four/=m=
[Option ID = 601]
2. Three/ =5
[Option ID = 602]
3 Twol =t

[Option ID = 603]
4. One/ %

[Option ID = 604]



Correct Answer :-

® Three! =

[Option ID = 602]

12) Under HOER (Hours of Employment Regulations) rules, which category of
employees will not have Roster Hours?
THHIE AT (F1A9 AIF TRIAIAHE AeE) I F AgA e AT T AT Al & AT 7 He
[Question ID = 152]
1. Intensive/ =g

[Option ID = 605]
2. Continues/ #T=1#7

[Option ID = 606]
3. Essentially Intermittent! m& = z=vfaz=

[Option ID = 607]
4. Excluded/mrFgss

[Option ID = 608]

Correct Answer :-

* Excluded/ mFasa=s

[Option ID = 608]
13) Which ofthe following condition is fo be fulfilled to promote an employee to the
post of Master Craftsman (MCM)?
TR FEAT R AT WS (THE) 9T T TR T & o e e A
SIS T T HeAT g ?
[Question ID = 153]
Should have served in skilled artisan Grade-| for 1 year
TeFeE e 9= # 1 a9 &1 o0 537 7 29 Fnien

[Option ID = 609]
Should have served in skilled artisan Grade-| for 2 years
TEFeE ATiEad a=-| 7 2 A9 & e aar i g areT

1.

[Option ID = 610]
Should have served in skilled artisan Grade-ll for 5 years

T aniEes 7=-1 & 5 = & oo =y #7 geT =S riEn

[Option ID = 611]

Should have served in skilled artisan Grade-lll for 7 year
e anfEas == W7 7 = &7 Foo =13y 37 57 =g

[Option ID = 612]

Correct Answer :-
Should have served in skilled artisan Grade-| for 2 years
TEFes aTiEed a=-| | 2 79 &7 o aar g aneT

[Option ID = 610]

14) Whoisthe President&Secretary for "Participation of Railway Employees in
Management (PREM) meetings from railway side at Divisional Level?
=T T 0T T AT EHA A TAa TR AT 5] A (T9) I F a7 A
FAE

[Question ID = 154]
' President. ADRM, Secretary. SIDPO! =1 ADRM . =f3= SIDPO

[Option ID = 613]



2. President ADRM, Secretary: SrDSO/ == ADRM . af== SDSO
[Option ID = 614]
3. President DRM, Secretary: SrDS0O/ = DRM. == SrD50

[Option ID = 615]
4. President: DRM, Secretary: StDPO / s=asr DRM . 353 SrDPO

[Option ID = 616]

Correct Answer :-

* President: DRM, Secretary: StDPO / s=asr DRM . == SrDPO

[Option ID = 616]
15) Name the forumin Indian Railways for resolving the disputes and differences
arising between the administration and staff?
TR g 79 § 20 TIEH 5 ATH F9720 5] A9 A7 FAA0 AT F 319 200d 21 are aarat

[Question ID = 155]

1. Permanent negotiating machinery (PNM)/ TERTHE e AT (47 T
H)

[Option ID = 617]

Participation of Railway employees in management (PREM)/ s=ar9 & 77
FHATTET 1 AT (75)

[Option ID = 618]
3. Jaint Consultative Machinery (JCM)/ & sermzsre asimeT (37 47 7a)

[Option ID = 619]

Branch Executive Commitiee Meeting (BECM)/ stram sersrir S| £7 90%
(&7 2 97 )

[Option ID = 620]

Correct Answer :-

Permanent negotiating machinery (PNM)/ w==r= Fafsmizs s (fT e
)

[Option ID = 617]

16) Which ofthe following is the type of metal pass?
A=A T AF A T AT AT 7

[Question ID = 156]
1. Silver, Gold and Copper/¥s= =7 7 F97

[Option ID = 621]

2. Aluminum, Silver and Gold/ meifam, 753 7 =
[Option ID = 622]

3. Bronze, Silver and Gold/ #fsr =7 7 =

[Option ID = 623]
4. Gold, Platinum & Copper/ =7 =if=ag 7 F19+

[Option ID = 624]

Correct Answer :-

® Bronze, Silver and Gold/ a1 ===a 3537

[Option ID = 623]
17) Ifa railway servantis transferred at a distance of more than 1000 kms but less
than 2000 kms, then ... Days will be the maximum permissible joining time.
T T AE T S 1000 TRET T ST AiE 000 FEHTH FR AT T IITEAT 29T .



[Question ID = 157]
1. 8

[Option ID = 625]
2. 10

[Option ID = 626]
3. 12

[Option ID = 627]

4. None of the given options/ For srr fgear# 7 #% 721
[Option ID = 628]

Correct Answer :-

* 12

[Option ID = 627]

18) Whenwas the Railway Service Conduct Rules formed?
[Question ID = 158]
- 1963

[Option ID = 629]
2. 1885

[Option ID = 630]
3 1966

[Option ID = 631]
4. 1068

[Option ID = 632]

Correct Answer :-
® 1966
[Option ID = 631]

19) In referenceto D&A Rule 1868, inguiry is not mandatory under Rule
AAMTAATAER A A9 Han 1968 FAEFH . F uaaE A= Aqad agl 2

[Question ID = 159]
! Rule 5/ ffa= 5

[Option ID = 633]
2. Rule 14 (i) / &= 14 (i)

[Option ID = 634]
3. Rule 13/f==13

[Option ID = 635] o

4. None of the given option/ & w7 & T 372 987
[Option ID = 636]

Correct Answer :-

® Rule 14 (i) / === 14 (i)

[Option ID = 634]

20) Which ofthe following warks will not be charged to Depreciation Reserve Fund?
TAH AR AT A S HA T [RA S E AT Al 26T

[Question ID = 160]
1. GConstruction of New Line/ 7% =més 7 femtr



[Option ID = 637]
2. Track Renewal/ == s&rdam

[Option ID = 638]
3. Replacement of existing Signalling System/ w==T 7= Mg Fr3z=79

[Option ID = 639]
4. Replacement of overage Rolling Stock/ stfersrsig Fa w0 =iF #1957

[Option ID = 640]

Correct Answer :-
® Construction of New Line/ 7% =mé= &1 famtor

[Option ID = 637]

21) Whatworks are camed out under Plan Head 51
=T 2= 51 FAET F9 9 5 [ A £

[Question ID = 161]

1. Gauge Cenversion/ 5=/ Ira37
[Option ID = 641]

2. Passenger Amenities! @ sfagm
[Option ID = 642]

3. Staff Quarters/ =7 754
[Option ID = 643]

4. Electrification/ fa=ris==
[Option ID = 644]

Correct Answer :-
® Siaff Quarters/ =7% Fr=+

[Option ID = 643]

22) Whoisresponsible for custody of the Bank Guarantee submitted by the
contractors to Railways?
SHERTIT T A 8 FhT F7 912 37 TN 7 FE S F (A7 E I AT g
[Question ID = 162]
1. Executive Officer/ F147m# dra=r
[Option ID = 645]
2. Audit Officer/ =m&T 75T IEFT

[Option ID = 646]
3. Accounts Officer! =T sl

[Option ID = 647]
4. Cashier/ @==1
[Option ID = 648]

Correct Answer :-

®  Accounts Officer! smaT siTaaT<T

[Option ID = 647]

23) pemand No.4 of Ordinary Working Expenses pertains fo ...

[Question ID = 163]
1.

Repair and Maintenance of Motive Power! 5Ti=g 914+ 51 9/ 4= v97979

[Option ID = 649]



2. Staff Welfare and Amenities/ #d=m#1 #=arm dr= afam
[Option ID = 650]
3. Operating Expenses- Traffic/ sivs =7 sg-amamams

[Option ID = 651]

4. Repair and Maintenance of P Way and Works/ 774 ¥ 5= F7a1 &1 570
[Option ID = 652]

Correct Answer :-

» Repairand Maintenance of P Way and Works/ 774 = 5= %747 %7 5794
[Option ID = 652]

24) Re-appropriation of funds from one source to-anotherwithin same Plan Head is
doneby
T BT SAT SR H UF AT 4 3 A § B Fewa e sE e e e g

[Question ID = 164]
1. Parliament/ #9=

[Option ID = 653]

2. Railway Board/ ¥z =12

[Option ID = 654]

General Manager/ sgm=s%

[Option ID = 655]

4. Divisional Railway Manager/ sv== 7= 99a%
[Option ID = 656]

Correct Answer :-

® Railway Board/ == 772

[Option ID = 654]

25) payments to contractors for the works done under maintenance are charged to

O TETE F FFT 9 g ATl FAT H SHETA HT AL A OATS (AT S g
[Question ID = 165]
1. PU-27/dra- 27

[Option ID = 657]
2. PU-28/+r7.-28

[Option ID = 658]
3. PU32/dra - 32

[Option ID = 659]
4. PU-33/+477. - 33

[Option ID = 660]
Correct Answer :-
e PU-32/frT. - 32

[Option ID = 659]

26) Weorkshop Accounts Officersreportto ...

[Question ID = 166]
1. Sr. DFM =i Somms

[Option ID = 661]



2. FA&CAOQISEW! T ma drran/me 7= 557

[Option ID = 662]
3. FA&CAQ/G/ 7 e Sz =r

[Option ID = 663]
4. None of the given opfion/ = s faged1 5 =12 72/

[Option ID = 664]

Correct Answer :-

* FASCAOQ/SEW/ e ma sirsime s 357

[Option ID = 662]

27) ME&P programme is drawn by each Railway under ...
LRt e S i e et e - R e B 0 B ]

[Question ID = 167]

. Plan Head: 21/ 9=t ¥fi#T: 21
[Option ID = 665]

2. Plan Head 41/ arsr wftsom: 41
[Option ID = 666]

3. Plan Head: 42/ arsar siwem 42

[Option ID = 667]
4. Plan Head: 16/ grsar 57 16

[Option ID = 668]

Correct Answer :-
® Plan Head: 41/ ars= st 41

[Option ID = 666]
28) The Development funds are divided in to how many heads?
AT BT FT A ST H A T AT
[Question ID = 168]
(R
[Option ID = 669]
2. 3
[Option ID = 670]
3.y
[Option ID = 671]
4. 5

[Option ID = 672]

Correct Answer :-
¢ 4
[Option ID = 671]
29) Propesal for a machinery against replacement underworks programme is
proposed in following
T WAL & o0 AT & (aes AT 9 WA & agd (A oad 8 aeaad izl
W-%l

[Question ID = 169]

' DFIFw

[Option ID = 673]
2. DRF/ZFramms



[Option ID = 674]
3. SRF/m==m=

[Option ID = 675]
4. CAPITAL ==

[Option ID = 676]
Correct Answer :-
e DRF/Zam=

[Option ID = 674]

30) To which headthe material issued to workshop are generally charged to?
FHITT T 30T SO ATHT STRGT T #1097 T 7 =7 FAarsmre

[Question ID = 170]
T WMS/ == g
[Option ID = 677]
2. GINT/ v W v
[Option ID = 678]
3. MAC/ws T
[Option ID = 679]
4. Purchase Suspense/=f= a7

[Option ID = 680]

Correct Answer :-
L]

WMS/ ssrma s

[Option ID = 677]

31) Whichis correct plan head for RSP proposal?
AT TEATE A 3 AT AR FTT SHH B AT

[Question ID = 171]

1. PH-21/dmm=21

[Option ID = 681]
2. PH-41} =41

[Option ID = 682]
3. PH-31/ fm=31

[Option ID = 683]
4 PH-42/Hm=-42

[Option ID = 684]

Correct Answer :-

* PH-21/+4mm=21

[Option ID = 681]
32) Which ofthe following item cannotbe classified as Revenue Expenditure?
e 7 7 59 75 51 7790 =09 § =95 T 59 A5l #4777 GFAqT &

[Question ID = 172]
1. Expenditure on salary/ 7@ 7= =5

[Option ID = 685]
2. Expenditure on purchase of stock item/ == sr=m fraf=T= =17

[Option ID = 686]
3. Expenditure on purchase of non stock item/ 7 =% 5= fT =7 =17



[Option ID = 687]
4. Expenditure on setting up new wheel lathe/ == = =1 &= 7= 5=

[Option ID = 688]

Correct Answer :-
o Expenditure on setting up new wheel lathe/ 7= == =1 &= T2 &=

[Option ID = 688]

33) Proposal underwhich of following funds should mandatonly indicates ROR
(Rate of retum)
ot & & fe aremr g F vea1m S99 & o vz st e o 2 sfFard 2
[Question ID = 173]
1. CAPITAL Fazer
[Option ID = 689]
2. DRF/#Framms
[Option ID = 690]
3. DF/#ms
[Option ID = 691]
4. RRSK! smesmama=
[Option ID = 692]
Correct Answer :-

* CAPITAL Ff=r

[Option ID = 689]

34) Final Modification Estimates (FME) is usually prepared in which months?
AToH HATEA AAATH (TRTHE) AFAT 77 90 Jaidl # o477 90 7d ¢

[Question ID = 174]

1. August-September/ sr=-faa==

[Option ID = 693]
2. December-January/ FEEETITET

[Option ID = 694]
3. February-March/w=<r=1=

[Option ID = 695]
4. April-May/ stta

[Option ID = 696]

Correct Answer :-
e February-March/ ===

[Option ID = 695]

35) Which of the following is nota function of Accounts Depariment?
TR I AT AT TS BORE Al g

[Question ID = 175]

. Budget Preparation/ === Fa7r

[Option ID = 697]

2. Financial Advice/ =T 7=
[Option ID = 698]

3. Intemal check/zaf= 5=
[Option ID = 699]



4. Accounts keeping/ =TT F1 TE-TETT
[Option ID = 700]

Correct Answer :-

® Budget Preparation/ == Fam¢1

[Option ID = 697]





